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Report 3 capillary pressure (BB HE) K4

Consider aliguid column with radius R. The surface position of the column is expressed as
h(=y) =+vR*-x* , where the origin of the x coordinate is at the center of the column.
Q1. Derive Eq. (1).
d*h R?
2 - D2 u2\3I2 @
dx (R*=x7)
Q2. Derive the equation (2) for capillary pressure at x=0 in the liquid column. The liquid pressure relative to the

atmospheric pressure is given by p=-od’h/dx* where o denotes the surface tension of the liquid.
O
p:E (2)
Q3. Two liquid columns of radius R merge when they contact. Explain the physical reason why the columns

merge to become one bigger column based on the capillary pressure.
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